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Matrix proof

Fe
Let

A = (i) ,
B = (g) , c = (m)

Then

(B+CA=
B +C

= (
(e +j(a + (f +R))(e +j)b + (f +k)dI(g+1)a + (i+m)c (g + l)b + (i+m)d



eatja + fc+ k eb + jb + fd + kd

= (ga + la + ic +mcyb + 1b + id +ma)

BA + CA = (2)(a) +(i)(ii)
And
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So
,
(B + c) A = BA + CA. ⑭
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Convert back :

O +2z
- w = - Q leading

y -
2z

= X
, ]

X - Y ·g[G I j

0 = 0 z ,w



Solve for leading and give
free variables new name :

0x = - 1 + y - 2z + w

②y = 2z ↑③ z = t

④ w = U

Eack-sub :

④ w = u

③ z = t

②y = 2z
= 2t

0x = - + y
- 2z + w =

- H + 2t - 2t+ U

=- 1 + U

Answer : x =
- 1 + 4

Fit-

y =
zt

z = t

w = u


